PUZZLES ~ BRAINS

12 BY 12 HITORI (NO. 4)

SHADE (OR BLACK OUT) CELLS SO THAT THERE ARE NO DUPLICATE NUMBERS IN EACH
ROW AND COLUMN. SHADED (ELIMINATED) CELLS MAY NOT BE HORIZONTALLY AND
VERTICALLY ADJACENT. THE REMAINING WHITE CELLS MUST FORM A SINGLE
COMPONENT AND NOT BE ISOLATED.

217 121112 [8(12({914 6|4
119 519191108 12 (10| 1
6 |8 6|32 10 (115 |12| 7
4 17112171852 6 12|53
1219161346 |11 4 71114
51711719145 (11]7 7110
4 1111711014 (12141105 |4 |3
716 (1219 (1119 (12(4 |1 |10|2
3 812 (3 (1]151(12{9 ]9 (10|11
11214 (1114|714 |53 |12
106 (96113 116|112 |4
8 21105 |8 (117|107 |11
1212 NO. 4

copyright:  www.puzzlesandbrains.com
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